Zwuwnunnud k'
by ntopkl’ Umpghu Punhlywh

18.06.2024p.
YULh

(pun pymugtanmyhl dwhiukpp qhpunbuswljmh nuumljupgimi) %
Opughpp =
Uinubinuip’ «hupnguphbm pyuh hkwn Juugdws bpwghps, «20:2%/Ulunipjwih qhw, thnul, Ywyyuh yuunijwph b nenquwh hufwlwpgh
Yunmgnus, Uy dpmgpkp

Pwdhii 09 funudp 02 quiu 01 dpwghp 1236

pudhb 04 junidp 02 uu 01 Spwghp 1004

pmdhi 04 junidp 09 quu 01 spwghp 1019

pwdht 06 funiup 03 nuiu 01 dpwughp 1072

Opughpp

Ubwbnudp «Qpuiwnuljupupimh b Qpuhbrugduwh pupbkjwynpnuds

pwdhb 06 funiulp 03 quu 01 Spuighp 1072

(puwn pmigbnwgh dwhubiph qupbwrwljwl puuwlwpgiuh)

Anufwpn
pe d'l;glnllglﬂ] . Gifwh [ Quuph
:ugu;qug winjmbnulp dbp | dhunjnpp Ubunjuph ghbp | fumhmipy (hwq. npund)

nuuwlwpguimb

Utnjwimudp’ «hypngwphtmipiuh hkwn Juujos spughps

Uphunnmbplikp

45211229 Chiwpwpuljwh wphiwinwbpibp qupnghbkph hwidwp ZRU npud 363,750,000 1 363,750
45211229 Chtwpwpulut wohwnwiphkp nupnghbkph hwdwp 2P0 npud 363,750,000 1 363,750
45211229 Chuwpupulut wphnunwbphtp qujpnghkph hwdwp ZRU npud 363,750,000 1 363,750
45211229 Chbuwpwpwlwh wphwwnwiphbp nqupngbkph hunfwp ZPU npud 392,850,000 1 392,850
45211229 Shtwpuipwlul waltwunwbpibp qypoghbpp hwwp 28U npwy 363,750,000 1 363,750
45211229 Chiuwpwpwljwh woluwnwbpbkp nupngltph hunfwp 2PU npuwd 392,000,000 1 392,000
45211229/512 Chuwpwpwlul wphwnwliplkp qupngibph hunfwip LRU npud 241,250,000 1 241,250
45211229/513 Chuwpwpulwh wplunwiphbp nqupngibph hwidwp ZRU qpwd 241,250,000 1 241,250
45211229/514 Chuiwpwpuluh wphwnwbplkp nupnglikph hunfwp 2rU npurd 241,250,000 1 241,250
45211229/515 Chtwpupuluh wylunnwhbpikp nupnglbkph hundwp ZRU npu 241,250,000 1 241,250
45211229/515 Chuwpwpwluh wohunwbiplbp fupngukph hufwp 2P0 npwud 241,250,000 1 241,250
45211229/517 Chuwpupuiul wohwnwhbpitp nupnglkph hunfwp 2PU g 241,250,000 1 241,250
45211229/518 Chuwpwpulwh wphuwnwbphbp nupnghbkph hudwp 2PU npud 241,250,000 1 241,250
45211229/519 Chtwpwpuiuh wphmnnwbphbp nupngbph hudwp 2P0 npwd 212,300,000 1 212,300
45211229/520 Chuwpwpulwh wphnunwbplibp qupngkph hufop 2PU npud 212,300,000 1 212,300
45211229/520 | Chtwpuipulmb walunwlipibp puypngbbph hunfup 200 nnud 308,800,000 1 308,800
45211229/525 Chuwpwpuul wahunawbphbp nunngtiph hwdwp LRU npud 308,800,000 1 308,800
45211229/526 Chiwpupuub wohmnwbipbbp nupagbbph hudwp ZRU npud 308,800,000 1 308,800
45211229/527 Chlwpwpulwh wolunwbputp nujpngubph hwidwp 2P0 gpud 308,800,000 1 308,800
45211229/529 Chuwpwpuljwh wolunnwplikp qupngkph hunfwp ZRU npud 308,800,000 1 308,800
45211229/53 Chuwpwpulub woluunulplkp nupnghbkph hwiwp rU npud 363,750,000 1 363,750
45211229/530 Chtwpupwlub wohmnnwiptitp qupngbph hufwp ZRU npwd 308,800,000 1 308.800
45211229/531 Chuwpupuub wohmnwhplkp rupnghibph hwdwp 2RU npud 310,400,000 1 310,400
45211229/532 Chuwpwpuluh wounwbphbp qupngkph hwwp 2P0 npurd 250,000,000 1 250,000
45211229/533 Chuwpwpuluh wahmnowbpbip nupngbph hwdwp ZRU npund 392,850,000 1 392,850
45211229/534 Chuwpwpujub wolmnnubpibp nupngkph hwdwp ZRU unl 352,850,000 1 392,850




45211229/535

Chbwpupwhwh wopwnwbiplkp qupngtbph hunfwp 2rU npud 392,850,000 392,850
45211229/536 Chuwpuwpwluh wphwnwbpbbn nypogbbph hwtwp pasiig npud 310,400,000 310,400
45211229/537 Chuwpupuyuwt wynwbplbp nupnglbph hufwp ZPU npwy 451,050,000 451,050
45211229/538 Chbwpupuluh wawnwbpltp qupngibph hwdwp Z2RU npud 318,450,000 318,450
45211229/539 Chinupumulut wpluwnwliplibp qupngikph hudwp 2RU npunf 347,400,000 347,400
45211229/54 Chiuwpwpulut wphwnwiphlp nwpngbbph hunfwup 2RU npwd 363,750,000 363,750
45211229/540 Chuwpwpuul wohmwnwbpbbp nupngtikph hwidwp ZRU iy 241,250,000 241,250
45211229/55 Chtwpwpuwh wohwmnwplbp qypngikph hwdwp 2RU npwd 363,750,000 363,750
45211229/550 Chinupupulul wphunnwbpbbp nupnghbph hudwp Leu pwd 250,000,000 250,000
45211229/56 Chuwpwpuwb wyhunnmbpibp qupogukph hwiwp ZPU npud 363,750,000 363,750
45211229/57 Chiwpuwpulwh woliwnwbipikp nupngiikph hunfwp ZPU npuyd 271,600,000 271,600
45211229 Chtwpuwpulut wolwnwbptbp nypngikph hwdwp 2PU npud ' .
45211229 Chuwpwpuluh wplunwlipbp nypnghbph hudwp ZRU npwd s e
45211229 Shuwpwpwljwh wywnwbplbp pypogbtph hudwp 2rU npud s *
45211229 Chuwpwpuwlwb wphwnwbpibp nupngbkph hwdwp ZRU npud : .
45211229 Chuwpwpuwjuh wyhwnwbplbp gupngibph hutwp ZPU npud i i
45211229 Chuwpupulwi wplwnwipbbkp nupngibph hunfwp ZRU npwd 5 "
45211229 Chwpuipwlut wahunwbpbbp qupoghbph huwp ZRU npud 5 .
45211229 Chtwpwpwuh wyjunwiplitp gupngltph hwdwp ZRU il ’ 5
45211229 Chuwpwpwlwb wphwnwiptbp nopogikph hudwp ZRU npud * *
45211229 Chtnupwpwluh wplwnwbplibp nupngtbph hwidwp 28U npud * 4
45211229 Chiwpupwlwh wphmunubpiibp nypngiibph hwidwnp LPU npud = .
45211229 Chhwpwpuljuh wphiwuwbpbp nupnglikph hwdwp 2RU pud # E
45211229 Chuwpwpulul wphmunwbpbp nypagbbph hudwp ZRU npud X ¥
45211229 Thbuwpwpwlul wyhunwbplbp puypngbph hudwp 2PU nput . .
45211229 Chuwpwpwlwb wphwnwbplbp qupngkph hunfwp 2PU npud & L
45211229 Chbwpwpwlub wyhunnwbipibp nupngbph hwdwp 28U g * ¢
45211229 Chuwpupulub wewnwbpibp qupngutph hwdwp ZPU npwd i *
45211229 Chhwpwpwlwhb wpluwnwbptbp nupnglbph hudwp ZRU gpud E %
45211229 Chtwpwpuljub wpluwunwbpibp qupnghbph hwdwp LRU npwd - *
45211229 Chuwpwpulul wphinwiphtp nupnghikph hwiwp 2PU npudf ? .
45211229 Chuwpwpuljub wpwinwiplibp nupngikph hudwp 2P0 npuid K *
45211229 Chinnpwpulul wohwnutiphbp gupnghbph hunfup 2rU npunf % *
45211229 Chuwpupulul wyhimnwbpibp nupnglikph hudwp pacivy npund " =
45211229/521 Chuwpwpulwh wphwnwbiplkp nupngibkph hudwp ZPU npud 241,250,000 241,250
45211229/522 Chtwpwpwjub wajumawpltp pypngtkph hundfunp 2pU0 npunt 241,250,000 241,250
45211229/523  |Chtmpupuluh wphumnubiphbp nupngtbph hudwn 2RU npu 241,250,000 241,250
45211229/524 Chtwpwpwlwb waunnwiplibp nupngukph hudwp 2PU npud 241,250,000 241,250
45211229 Chuwpwpulwh wolunwbphbp qypoghlph budup PU npuy " 2
45211229 Chuwpwpuwb wphiwinwbphbp gupngibiph hunfop 2P0 npud = s
45211229 Ghtnupuwpurwb wphiwnwbplbp qupngikph hudwp ZPU npud * X
45211229 Ghtwpwpwhub wyhwnwbphbp pupngibkph hwdwp ZRU npuid b %
45211229 Chuwpwpwlwh wohiwnwbpibp nupngikph hudwp ZRU npunl % ¥
45211229 Chwpwpwhwh wohwnwbplkp pupngikph hunfup ZRU npuil * <
45211229 Chuwpupulwl wpunnmipukp nupngikph hwdup ZRU npwd * .




45211229 Chuwpwpwlwh wpwnwiplbp qupnghkph hudwp ZPU npwd i e
45211229 Chbwpupwhwh wolwnwbpbbp qupnghibph hwdwp 2RU i = *
45211229 Chuwpwpwyul wolunnwbiplbp nupngbbkph hunfwp rU npwd Y *
45211229 Chiwpwpulwh wohwnwbiplikp nupngibph hunfwp 2T npud ¥ *
45211229 Chiwpwpuljut wphwnwbpibp nypngikph hwdwp 2PrU npund 5 .
45211229 Chuwpwpulwh wphunwbpikp nypnglibph hwdwp ZRU gpud ® =
45211229 Chuwpwpulut wplwnwbplbp nypnglikph hwdwp R0 npwyd = *
45211229 Chiwpwpulub wrhunwiplbp nupngbbph hudwp ZRU qpwy : 5
45211229 Chimupwpujuh wohunnwbplibp qupnglibph hundup seu npud = ¥
45211229 Chbwpupwluwh wphunnwbipbbp qupngibph hundwp 2PU npud i 5
45211229 Chuwpupulwh wphmnwbipibp qupngikph hudwp ZPU gpud . 5
45211229 Chtwpupulub wywinwbpbbp pypngikph hudwp 2PUT npuyd * 5
45211229 Chuwpwpuljul wolwnwipkp nupnglikph hudwp 2PU npwy . *
45211229 Chuwpwpwlwh wphwinwbphbp qupngikph hudwp ZPU pud ; e
45211229 Chuwpuwpwlwh wpjuwwnwbptbp nupngbkph hwdwp ZRU npwd = %
45211229 Chuwpupuluh walswnubiphbp pypaghbph hunfup 20U npund : €
45211229 Chuwpwpmlub wphwinwbplibp gypngiikph hudup ZRU pwd : *
45211229 Chuwpwpulub walunwibptlp nupnglikph hwdwp pAS ) npwd i ¥
45211229 Chiwpwpulpub wphwnwbplibp nypnglph hudwp 2RU npuyd N 2
45211229 Chiwpwpwlwh wywnwbpbbp nypnghbph hudwp 2RU npunf k *
45211229 Chuwpwpwljmh wohmnwbpbbp nupngkph hudwp ZRU npud S ]
45211229 Chuwpwpwlwb wyhwnwbphbp pupnghph hudwp ZRU npud ¥ '
45211229 Chiwpwpulwh wpliunnwbpbp puypnghbph hudwp 2PU nuud * i
45211229 Chiwpupulwb wplwnwbplibp qupngukph hwdwp ZRTT pund . *
45211229 Chtwpupulwi wphwwnwbpibp qupngubph hwdwp ZpU gpud : 2
45211229 Chuwpwpulwh wpnwnwbipbbp gupngukph hudwp ZRU npud $ .
45211229 Chuwpuwpwlwh wohimnubpbkp nupngkph hudwp 2P0 fpund g %
45211229/583 Chuwpwpulub wphunwbplibkp nupngikph hudwp ZRU o . =
Twnwympniiikp
71351540 Skuthljwlwb hulngmpjwh Swrugnippniitkp ZBU npud = 3
71351540 Skjubihljmljwb huynnntpjut Swouwm pmiblbp ZPU ppud 2 .
71351540 Skjuthjwlwl hulnnnipymt Swpwnpmibbbp PU npunt . .
71351540 Skjubihlmlwt hulngnupjut Swewgnpgnbibn LRU i 9,600,000 9,600
71351540 Skuthljwlub hulnnnipjwi Swnwmpymitbp LRU pud 13,950,000 13,950
71351540 Skjutthjwljwib hungnipjut Swpwympnibikp LRU npud 9,556,000 9,556
71351540 Skjuthjwlput huljnympjwh swoumpmbbkp 2PU npund 12,600,000 12,600
71351540 Skutthjwlwt huljnnoipjwh dwpunpmbbkp IRU npud 9,560,300 9,560
71351540 Skjuthjwlwl huljnnnipjub Swnwnpnibikp eu npuy a Y
71351540 Skjuihjujwi hulnnmpput Swewynepgmiibp ZeU npwyd g %
71351540 Skjubihljwlwb hunnnupywi Swnwynpimttp e nmud ¥ *
71351540 Stjuthljulwh hulnym ppub swnuonipymbbkp puU o i .
71351540 Stuthwlwh hulnnm pjub Swoumpynibbkp 2RU npwd . .
71351540 Stjuthjulwi huljnymppub dwrwneniiikp ZRU npwu ' &
71351540 Skputihwlwl hulnnoupyuh Sweuwmpniblibp LPU npud ’ ¢
71351540 Skjutthjwljuh huljngnipjuh dwnwmnpmiiibkp Z.l'—‘U‘ gl % .
71351540 Skuthjwljwh huljnympjut Swrwnienibbkp 2RU npwyd A ¥




71351540 Skhuthjwlwi huljnnm pjub Swouympmbbkp 2PU npud ® 1 *
71351540 Skuthiwlwb hulnynipjwh Swnuympnbbkp 2P0 npud 9,375,000 1 9,375
71351540 Skuuhjwlwh hulnnnipjwb Swnuynipnibibkp 2RU npud . 1 ¥
71351540 Skjuthjuw huljnynipjwb Sweunmpmbbbp ZRU ppud . 1 2
71351540 Skjuhjuwi hulnnnpjwh dSwnunipmbbkp 2RU npud * 1 *
71351540 Skjuthjwlwl hulnnmpjub Swnunipnibibp ZRU npud x 1 ”
71351540 Skputihwlwt hulnnmpub Swownipnbikp ZRU nud 3 1 *
71351540 Skjubhiwlwl hulngnipjuh Swownipnititkp ZPU npwu ' 1 .
71351540 Sb]uhhl.]ul[]m‘u huljnnm ]a]m'h kmnm!nl piniibikp 2nU npwd * 1 =
71351540 Skjuthlwlwh hujnqmpuh Swowntpimbikp 28U npwd & 1 :
71351540 Skjutthjulwh huljnnm pjut swrunepymbikp 2P0 npwy = 1 *
71351540 Skjutthljulwt hulnnm pjuh swownmpnibbkp 2pU npud E 1 ¥
71351540 Skjulthulwhb huynnnipyub swruynm pyniibkp 2P0 npuwd £ 1 &
71351540 Stjuhwlwi hujngnipjub swrwnipnitbkp ZRU il L 1 X
71351540 Skjuthjwlwh huljnnnpjul Swowjn pinibbkp pasiig npwd ¥ 1 .
71351540 Skuthjwlmi hulnympjuh dwowynipmbbbp ZeU npud * 1 2
71351540 Skhuhwiljub huljngnipjub Swowympymiikp LRU o 11,250,000 1 11,250
71351540 Skutthjwlwb huljnympjub Swnuynipmbbkp 2P0 npwy 11,250,000 1 11,250
71351540/518 Skuthjwlwi hulnnmpwh Swunwym pnibbp ZRU npwyd 11,200,000 1 11,200
71351540/519 Stjutthljwlwi hulnympjub sSwownuenibikp ZRU o 11,200,000 1 11,200
71351540/337 Skjutthjwlwl huljnnmpyjub swown bk ZRU npuyd 38,500,000 1 38,500
71351540 Skuthjuiwl huynynipjub swownpnibiikp 2RU npud " 1 L
71351540 Skulihjulwh huljnympjuh swnumepynititkp 2P0 npud 9,600,000 1 9,600
71351540/510 Skutthljulwh hulnnnpjub swowmpmbtbp 2P0 npud 8,750,000 1 8,750
71351540 Skjutthjwlwi huljngm pjuh swruynepnibbikp 2RU npwud 8,750,000 1 8,750
71351540 Skulihuljwh huljnpmpjut swnwyntgymbhkp ZRU i " 1 *
71351540 Skjulihjulwh hulnnmpput Swrumnipoibkp ZRU npwi * 1 *
71351540/511 Skhuthjulwh hujnnmppub swewjnpniibkp ZRU npud 7,700,000 1 7,700
71351540 Skjuuhjuljwb huljnnnipjut swnwjm pynibbhp ZPU npud * 1 :
71351540 Skubhlwlwb huljnnmpub swrwym pnithkp ZPU npuyd * 1 Y
71351540 Stjuthwlwl huljnnmpjub swewjnpnibikp ZPU i ' 1 .
71351540 Skfuthjulwb hulnnmpjul Swpwnmpnibbp LRU npud : 1 i
71351540 Skuthjwljwb huljpnnipiut Swownpnibbbkp 2rU npwy * 1 X
71351540 Skpthjuljub hulngmpjub Swrwmpmniibbp LRU npud ‘ 1 y
71351540/521 Skuthjulwl huljnympjwi dwnwnipniibbp LRU nputd 11,250,000 1 11,250
71351540 Skuthlwlwl buljpympjub Swewnpyniikp P npwd * 1 -
71351540/520 Skubpjwlwl huljnympjui Swpwynmpnbbkp ZRU npwil 11,200,000 1 11,200
71351540/514 Skubhjwlwh hulnymput Swpwympnibikp ZRU gpud 8,750,000 1 8,750
71351540/511 Skpuhlwlwh huljnnnipwmb Swownpinibikp LRU gpul 7,700,000 1 7,700
71351540/513 Skuhjwlwh hulnympjuwh Swnwmpniibkp ZPU gpuwd 8,750,000 1 8,750
71351540/514 Skuthwlwl hulnynpjub dwownpmbblp ZRU qpud 8,750,000 1 8,750
71351540/515 Skuipwljwl huljnnmpjwh Swruwynpmbhbkp 2PU npund 8,750,000 1 8,750
71351540/504 Skjuthuljwh huljnympjui dwnwym pniibkp 28T npud 8,750,000 1 8,750
71351540/505 Skjuuhjwlwh huljngnipjub swpuym pynibbkp ZPUT npuwd 8,750,000 1 8,750
71351540 Skjutthljwlwh hulnnnipub Swewjmpnbitp £FT il * 1 "
71351540/507 Skupjwlwh huljnnmpjui Swowmn pnibbbp LU npud 8,750,000 1 8,750
71351540/508 Skputhjwljwl huljnnnipub dwewynipmiiikp 2RU npual 8,750,000 1 8,750
71351540/522 Skubhjwlwl huljnnmput Swnwjm pjnibikp ZRU qpud 9,375,000 1 9,375
71351540/536 Skjuthwlul hulnnnupjub Swowjn pyntbkp 2P0 npwy 34,800,000 1 34,800.0
71351540 Skiulthjwlwl hulngnupwh dbwpwnipymbitp LRU npwd 11.200.000 1 11,200,000
71351540 Skuhhwlwh hulngnipjwb Swnwnipniiikp ZRU npul 11,200,000 1 11,200,000
71351540 Skihhwljwb huljnympub Swowynpimitkp pss) npwd * 1 i
71351540 Skputhjwljub huljnpnipjul Swownipaibbkp 28U rpud 2 1 *




71351540

Skpthwljut hulngnipiul Swownipgniblikp 2PU npwd ‘ 1 .
71351540 Skjubhyulwb hulnnmppub Swownupnitlikp 2PU npwd K 1 .
71351540 Shjutihjwljwh hulnym pjut Swnwmpnibikp 2PU fpwyd : 1 ¢
71351540 Skubhljwlwh hulnympwui bwnuynipmbiikp ZRU npwid : 1 *
71351540 SEutihlwlwh hunympyul Swnwjmpymihkp ZRU npwd * 1 =
71351540 Stulihhwlwb huhngnipuh swnwynipyniibkp ZPU npud 5 1 £
71351540 Skubplwlwh huhnynippuh Swnuympyniibikp ZRT iy * 1 3
71351540 Skjulthwlwh hulnnnipjuh Swpwnipmibhbp LPU npu 2 1 *
71351540 Skuthljwlwh hulnnnipjut Swowynipniiikp ZRU npud s 1 E
71351540 Skjuthiwlwh hujngnupjwi swnwynipnihibn ZRU _npul = 1 2
71351540 SkuuhYuljwb hulnnn prub Swowynpniiibp 2RU npud Y 1 *
71351540 Skjutihjulwi hulnnnipjwb swownipnibiikp ZRU npud e 1 Y
71351540 Stjutthlwhub hulnnnipyul swnuyn pnibiikp ZRU il o 1 d
71351540 Skubhwlwh huyngnipjub Swnwympiniiibp ZPU npud ¥ 1 X
71351540 Skjubhjuwlwh hulnpnippui dwnwynipniiiikp ZPU pud * 1 ¥
71351540 Skpbhlwlwb bulnnnipjuwi dwnwnigmtbp ZRU npud i 1 .
71351540 Skjuthyuljwb hulngn piwb Swowynupnibbkp 2P0 npud . 1 E
71351540 Skjuthyulwb huljngnipjub Swnwyn bk zeu npuyd i 1 s
71351540 Skpuhywlwh hulnnnpyub Swnwnpnibip ZRU npud o 1 *

Opugph whjwimdp' «2r24/Ulunipjub ghn, thogl, Ywyuh wwnuph b nengiwh hwilwlwpgh junnigdws Spmghp

85311210/1 unphprwnynipjub Swnwnipinibitp RU npud i 1 *
71241200/1 Lwhigbdkph ywwpuwwnnu, swubph giwhunnul ZRU npud 56,100,000 1 56,100
50531140/1 Popdwphiim pywh swouynipyniibkp Qz npud 3,375,000 1 3,375
Ulwbmp’ «Uwpquiljwl opjyntikph shtwpupnipniis
45211131/501 Uwpquljut opjknbkph shtwpwpuijul wzhwnwhplkp RU npuyd 162,415,700 1 162,416
Uljwinudp «punimnwlwpupint b Qpuhbemgdwh pupbjugopnuls
Ugjumwnwiphkp
45231144 Ymyninn hln juyjus wolwnwiphbp Ul npud 47,763,740 1 47,763.74
Uy spugplp
Uwnpwhbphkp
42931100 Jwpnpuinnphwlwh ginphpniqubp b ywpuquikp 74 hunn d 1 ¢
33141174 pdpljwlwl vwppbph hujwpwdnilibp Qz hunn x 1 .
38431340 wpjul YEpnishshbkp QL hwn ¥ 1 E
38431340 wpjwb JEpmdhshbkp Q2 hwwn ¥ 1 .
33141174 pdoiwlwb vwppkph hwijwpwénibp Q2 hunn = 1 *
42911140 oph quuwl uwppuynpmdubp Qz hwiwn i 1 0
33121150 b pwupinugphy qz hwn . 1 v
33161150 ljnjujnuljny Qz hwn : 1 o
33121140 unnnipjub sunhuwb uwppkp Qz hunn . 4 i
34221160/501 Ygnprukp LUK Zunn * 6 L
34131100/502 thoppuwdwyuy prbwwnwpbibp (whlukp) EUX Zunn . 3 2
34131100/503 thnppwbwiw) phrwnwpbbip (whhwwybtp) EUX Zunn i 1 »
34141150/504 hwnnil bpwbwlmput dkpkhwbkp EUX Zwn = 2 ¥
42414100/501 phnbwwnwupibp EUX Zunn x 3 :
42414100/502 phnbunnwpbitip RUX Zun ' 2 *
44611300/501 winph Yninnbjlabplitp EUX Zwmwn * 6 ¥
30211300 hwlwljwpgywyhl vwppuninpoudubp tux |pwluqd * 23 -
30239150 wghy uwipp, puqupniulghnliug, A4, 35 ty/pnyb wpugnipjub | UL hwn * 23 3
39121100 qpuubnubiibp EUL huiwn G 23 i
39138310 puqlupnn, supdwlwb EUX hunn * 23 i
39111180 wpnn' gpuubbyulught EUX hwwn ¥ 40 .
39121520 gpuywhwpwbbp LUs huwin 3 10 *
39141120 nupwljubpn] wwhwpwbbkp EUX hwn 5 10 %
39121420 Ygwubnulb® wwhwpwbhyn] (qupulng) EUX huwn ¥ 20 X
Owpwmpymbukp
b
71621100/501 nkulihluljut |bpinisnipyub b ophpjungnipyw 200 —_ & 1 A
Swnwynipjniuitkp
71621100/502 nkhihjwlwh Jhpimsnpput b pnphppunynupput LPU o i 1 &
Swnwynipnibbbp
71621100508 | “hiliblmlpuih flimbnpysh b junphpnusinis et 2PU npun 35,000,000 1 35,000.0
Swnuwynipjniiikp
71621100/504 ukjuthjulwt tppisnpub b unphppwnynipub 10U - u 1 :
Swnuynipjnibiikp
71621100/505 nkubhjujwi Jpmsmpub b pnphpyunnupput 20 gt & 1 i
Swnwympnibiikp
hy I .
1621100/506 nbubthiulwh JEpmbnipiwt b junphpyunnim pyw 200 o ; "
Swnuympmbbkp
71621100/507 nkpthjuljwh JEpmdnpuh b unphpyunnynput 201 gl 5 1 ¥

bdwnwynipnibbbp




ububipluljut Jkpjmsnppt b unphpyuno eyt

71621100 swinuynupymubiikp 2PU npud 6,402,000 1 6,402
71241200/506 Lwhugbdkph yuwnpwuwnd, swhubph ghwhwnmy 2P npwd 5 1 .
71241200/4 Lwhiugdkph wwnpwuwmd, dwuubph guwhunnid 2RU npwd 10,750,000 1 10,750
50531140/1 @npdwpliinipyuh Swrwynpynibikp 2PU npud 3,344,800 1 3,345
98111140/1 2knhwluyht hulngnuppueb Swewnipynbiibp 508 punt 3,216,000 1 3,216
71351540/550 Skiutthhwlwb hujngnupwi Sunwynipyn itibp Q2 npuy 2,076,000 1 2,076
71351540/551 Skubhjwlwh hulnnnipjub dwnwynipnibiikp Qz npud 2,988,000 1 2,988
71351540/552 Shjutthwlwl hujnnmpjuh swnwym pnitikp Q2 npud 3,960,000 1 3,960
71351540/553 Stjutihlwluwl hujngmpyub swnwm pynkp 92 npwd 3,960,000 1 3,960
98111140/501 2bnptwluyht huljnnnipiub swowympynbikp Uu npud 837,000 1 837
98111140/502 2knhuwluht hulngnupjuh dwowynipynibitkp Uu npwd 1,200,000 1 1,200
98111140 2bnptwluihl hulngmppub Swowm pymbitp Uu npud 1,384,128 1 1,384
98111140 Zbnhlwluyhly hufnnnupjub Swnwynipjnbp uUu npuy 1,000,270 1 1,000
79711160 Mupklwjht Swrwynpjniiikp QL npud > 1 k
71241200/1 Lwjuwgskph uwinpuuinma, suthiubph ghwhunnod az npund 2,189,000 1 2,189
71241200/2 Lwuwgshph wwwnpwuwnn, swhubph ghwhunnul Qz npwd 2,431,000 1 2,431
71241200/3 Lwhiwgblph wwnpwunn, swhubkph qhwhwnnd Ul npud 6,920,000 1 6,920
71241200/4 Lwhimgsbiph wwwnpwunnd, Swubkph qhwhwnnud Uu npud 6,210,000 1 6,210
Ugjuwwnwbiptibp
ssnzyses | Srlwnwhupupint e leouptph hbn o U nput 26,949,200 1 26,949
wpunwipbp
sspzysoy | Ppefwnwliupuplud eanajulwsupkph bt Gugdus U npund 46,949,200 1 46,949
wouwwnwhbphbp
45211228/1 Chuiwpwpwlwh wohiwwnwbpbp Uwilwywmakqlbph hwdwp U npud 291,444,323 1 291,444
45211228/2 Chuwpupwlut wphnwbpbp dubluwwpnkqikph hudwp rU iy 295,189,634 1 295,190
45211228 Chiwpwpulwh whnunwbpbbp nuypnghbph huwp 2RU pund 2 1 =
45231131 Qpufwinwlwpwplub pannjwhwowpkph hbn Juygwud 2PU izl # 1 &

wphiwwnwbphbp




